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Directions
related word/letters/number

TEST (i) : GENERAL INTELLIGENCE AND REASONING

: In quesiions no. 1 to 8, select the
from the given

alternatives.

1

=iy

10.

Uttarakhand : Dehradun : : Mizoram:?
Aizawl 7 (B) Kohima
(C) Shillong (D) Darjeeling

Disease : ? »
(B) Medicine
(D) Treatment.

Crime : Court : :
(A) Doctor

0 Hospital

YQXP: JBIA:: OVNU : ?

(A) FAGZ (B) HRIS »
@ DKCJ (D) DNEO
bd
ADGJ : BEHK : : DGJM : ?
(A) KPUB (B) GJMP
(C) KNQT @ PSVY
ACE:BDF::GIK:? -
@ L *(B) AXP - -
(C) CFG (D) GFE€ y -

O e (B) CLM
(©) CML (D) CEP
1:1::10:? :
@A) 12 o RS
(C) 210 @ 1000
7:56::5:? s -
Q) 25 (B) 26
@30 " (D) 35

" The following numbers fall in a group. Which

one does not belong to the group ?

53, 63, 83,73
(A) 53 637
©) 83 D) 73

Which one is the same as Mumbal, Kolkata | -

and Cochin ?
(A) Delhi

mhennai; |

(B) Kanpur
(D) Sholapur

Directions : In questions no. 11 to 17, ﬁnd the odd

word / letters/ number
alternatives.

11. (A) Kolkata

@ Bengaluru

_pair

from  the given

(B) Vishakhapatnam
(D) Haldia

12. Carrot, Cabbage, Potato, Ginger, Beetroot

Cabbage -~
(C) Potato
13. (A) HGFE

(C) DCBA

14. (A) GFI
(C) POR

15. vwQqp ¢
©) gil

16. (A) (324, 18¥
(©) (117, 81)

17 (A& (11,120)
@ (12, 141)

(B) Carrot
(D) Beetroot

(B) PONM

(B). yxmn
'(D)' “cbrs..

B) (441,79)

B (25;62b) .
(D) (15,925)

18. Find the smallest numbe¥ which when

divided by 25, 40 or 56 has in each case 13 as
. remainderwww.previouspapers.in

1413

(C) 1439

19.
the dictionary :
, 1:. Empla.ne}
3. Embracey
v 5, Equable

(A) 5,1,3;2,4

@43125

20.

(B) 1400
(D) 1426

Arrange the following words as per order in

2. Empower
4. Elocution &«

®) 4,2,1,3,5
(D) 4} 59 2: 3, 1

Which one of the given reépdnses' would be a

meaningful order of the following words ?

1. Sowing
3. Reaping
(A 3,1,2,4
© 1,2,4,3

2. Tilling

4. Weeding
)2, 1,43
(D)1,3,2,4
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21. Arrange the colours of the rainbow (in the
reverse order) (from the top edge) :
‘ Red, Orange, ...... ? 9
\/\ 1. Blue 2. Indigo 26.
o 3. Yellow 4. Green 22 13
C( 5. Violet
3,4,1,2,57 (B) 4,3,2,5,1
W4 & KERE (A) 40 (@ EE
g (C) 5,8,4,2,1 D) 2,4,3,1,5 \
e . (C) 39 (D) 44
" Directions : In questions no. 22 to 24, a series is '
given, with one term missing. Choose the correct 8
alternative from the given ones that will complete | ? /\ 25
the series. 7 3
217.
22. CEG,JLN,QSU, ? ) 43 13
(A) QQS (B) TVX
‘ M\ T R
© = (D) UVW /
23. B1D2F4H8J16‘? =1 (A) 56 57
(A) K64 ‘ 1-32 © 58 | D) 59
(©) M-32 . @ L6t : "' , z .
24. CGJ, KOR;TXA, ? \ , 11 22 121
@FJM - (D) UWY | A N “8 25
. - ' : S @1’?6 B) 115
; Directions : In questions no. 25 to 29, find the|  (C) 157 (D) 131
s missing number from the given responses. 1 :
1 29. 63 S
7|91 |
s3t1|7|2] . |
© 5 | ™ 2
;30. Arrange the - Tetters to form a word and
suggest what is it.
. V. _ NGDEALN _
/ “// (A) 422 ' - (B) 3874 (A) State - _ Country
V (C) 256 @342 | (C) River -~ (D) Ocean
DB 2014/Page 4 SPACEFORROUGH WORK % % ¥ R Torm



INTERNET
Oval

INTERNET
Oval

INTERNET
Oval

INTERNET
Oval

INTERNET
Oval

INTERNET
Oval

INTERNET
Oval

INTERNET
Oval

INTERNET
Oval

INTERNET
Oval




INTERNET
Oval

INTERNET
Oval

INTERNET
Oval

INTERNET
Oval

INTERNET
Oval

INTERNET
Oval

INTERNET
Oval

INTERNET
Oval

INTERNET
Oval

INTERNET
Oval




INTERNET
Oval

INTERNET
Oval

INTERNET
Oval

INTERNET
Oval

INTERNET
Oval




INTERNET
Oval

INTERNET
Oval

INTERNET
Oval

INTERNET
Oval

INTERNET
Oval




INTERNET
Oval

INTERNET
Oval

INTERNET
Oval

INTERNET
Oval

INTERNET
Oval

INTERNET
Oval

INTERNET
Oval

INTERNET
Oval

INTERNET
Oval

INTERNET
Oval

INTERNET
Oval

INTERNET
Oval


63. The famous court poet of Akbar was 69. The main cause of faulting is

(A) Birbal @ Tension
. . (B) Wind
(B) Tulsidas

(C) Tidal activity
@ Rahim Khan

(D) Gravitational force
(D) Bairam Khan '

70. ‘Pan American’ refers to

64. Who established four great Mathas at the (A) North America
four corners of India — Sringeri, Puri, (B) South America

Dwaraka and Badrinath ? o )
(C) Central America

Shankara (B) Ramanuja _ Al the above

(C) Madhva (D) Ramananda
71. Most primitive living vascular plants are

65. The local name of Mohenjodaro is (A) Brown algae (B) Cyeas
(A) Mound of the living @ Ferns (D) Sphagnum

(B) Mound of the great 72. Temporary wilting eccurs in plants due to

@ Mound of the dead : (A) Respiration
(D) Mound of bones Y B _ , TEanspiration . -
o | | () Photosynthesis
66. Which is the longest dam in India ? :
@ Bhakra-Nangal _
(B) Rihand . A Y ¢ 73. blfiche/ns are a sy.mbiotic as‘socia.tion of ‘
(A) Algae and Fungi

D) Absorption of water

(C) Hirakud
N B W : 1. (B) Bacteria and Fungi
(D) Nagarjuna Sagar )
: = = Bacteria and Algae
67. The Thermal Power Plant in Tamil Nadu is - (D) Fuagi and Hig}}el‘ plants -
(A) Kundah B Ramagm_ldam 74 Photophobia is caused by the deﬁcﬁency of

© I"ykara v @ Neyveh' ) ' (A)» Vitamin B, Vi_tamig B,
- . S e ) (C) Vitamin B 4 -(D) Vifamin B6
68.  Which one of the following regions does not S N At
- come under the Mediterra_nean type of_

climate ? 75.  Which of the followmg is present only in plant

cell?
(A) Cell membrane
: , (B) Mitochondria
(C) Chilean coast ' ’ @ Cell wall
‘ Eastern coast of South Africa B (D) Endoplasmic retlculun;
DB 2014/Page 14 SPACE FOR ROUGH WORK /76 FH b [T TE
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89. A natural phenomenon that becomes harmful

due to pollution is

(A) Global warming

(B) Ecological balance
Greenhouse effect

(D_) Desertification

90. Decomposers include
(A) Bacteria
(B) Fungi
Both Bacteria and Fungi

(D) Animals

Who said about religion that “it is the op1um
of the masses” ?

(A) Hitler
) Lenin

91.

(B) 'Stali;n _—
@ Marx i g

The first woman in the World to have chmbed
Mt. Everest twice is

(A) Bachendri Pal

(B) Molly Chacko
Santosh Yadav

(D) Theresia Kiesl

93. What is the bas1c foundatlon of Gandh1an

thought g -
(A) “Political campaigns »

(B) Social movements '

(C) Religion and moralxty

@ Freedom of the individual

94. Amir Khusrau was a famaus poet in the court
of . , Lo o
(A) Akbar

(B) Shahjahan

(C) Tbrahim Lodhi

95. In the year 1905, Gopal Krishna Gokhale

founded the
Servants of India Society
(B) Asiatic Society
(C) Brahmo Samayj
(D) Bharat Sewak Samaj
Gandhiji believéd that Satyagraha .is a
weapon of
(A) the poor
(B) the weak
(C) the ﬁntouchables

, the brave

96.

97. Pt Shiv-Klimar Sharma is an exponent of

(A Mandolin
Santoor

‘ !C) Sitar
(D) Veena . °

98. Pata-nj-;ali is well-known for the compilation of
Yogasutra
(B) Panchatantra
- (O Brahmasutra
D) Ayurveda
99. Which of the following Presidents of America
abolished Slavery ?
@ Abraham Lincoln-
(B) Thomas Jeffers;)n_
(C) George Washington
(D) Stanley Jackson .

100. Who is the first woman cosmonaut of the
world ? :

Valentina Teréshkov_a '

(B) ‘Mari_a Estela Peron |
(&) Svetlana Savitskaya -
D) Kay Cottee .

Alauddin Khilji
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145.

146.

147,

148.

149.

150.

]

The ratio of the quantity of water stored in
the root zone of the crops to the quantity of
water actually delivered in the field is known
as

(A) water use efficiency

(B) water conveyance efficiency

(C) water application efficiency

(D). .water storage efficiency

For unlined canals, the freeboard is measured
from the

(A)
B)
©
(D)

full supply level to top of the bank
top of the bank to bed of the canal
full supply level to top of the dowel

None of the above

The ruling minimum radius of the curve for

" ruling design speed V m/sec, coefficient of

friction f, acceleration due to gravity g m/sec2
and superelevation e is given by

@) V¥Ye-Dg B V/E-eog

©) V2/(e +0g D) Ve + D2

Camber in the road is prov1ded for
A) counteractmg the centrlfugal force
(B) effective drainage

(C) having proper sight distance

D) avoxdmg overturning

The standard 5-day BOD at 20°C when
compared to ultimate BOD i is about

(A) 60% (B) 68%

) 80% . D) 90%

The global Warmiﬁg is caused mainly by
(A) NOx (B) SOx

(Cy CO, (D) O

151.

152.

153.

154.

155.

(A) lateral strain to linear strain
(B) linear strain to lateral strair

-(C) lateral stress to linear stress

The maximum shear force in a simply
supported beam of span L, subjected to a

central point load, W is given by the following

expression :
@ ¥ B) WL
(C) WLY2 (D) WIL2/4
30 kN
A lc B
L-1 m—d—— 2 m —]

For simply supported beam shown in Fig., the
magnitude of vertical reaction at ‘B’is

(A) 20kN (B) 18kN
(C) 15kN (D) 10kN

“Poisson’s ratio” is defined as the ratio of

(D) linear stress to lateral stress

If ‘A’ is the area of cross-section and T is the 3’ '
moment of_' inertia of a given plane section, &
then radius of gyration (r) is given by the
formula '

A) r=1/A (B) r=+I/A
(C) r=A/T (D) r= A/l

Strain energy due to axial deformation 1s>
given by ‘
(o : resultant stress
P : axial load
A : deformation
€ : strain

E : modulus of elasticity)

(A) o¢ (B) PA
(©) o%oE D) %PA

DB 2014/Page 28
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157.

158.

In a cantilever beam subjected to general
loading, the maximum bending moment is at

(A) fixed end
(B) freeend
(C) mid-span
(D) quarter-span

b

Moment of inertia of rectangular section
shown in Flg about its honzontal centro1dal

axis is _
@A) dv32 C®) w3
© bafiz- - (D) bd¥f3

Ratio" of lefigth of column o the minimum
radius of gyration of the ¢ross-sectional area
of the column isknown as ’

(A) Slenderness ratio
(B) Buckling ratio
(C) Crippling ratio -

(D) Compressive ratio

159.

160.

A
obtained in matenals

linear force-deformation  relation is

(A havmg elastlc stress stram property

(B) having plastic stress-strain property
©) following Hooke’s law
(D) which are rigid elastic materials

4
v

beaten or rolled into plates, is called
(A) malleability '

(B) ductility

(C) plasticity
(D) elasticity

161.

162.

163.

- (C) 20cm, 10 cm, 30 cm

: R p ] 164
The property of a material by which it can be

The eaﬂy high 'strength.'of rapid hardeningz_;,g

;GY

Which of the beams given in the following
Figs. is a determinate beam ?

A B
(A) T T
' B
. (B) Aj T
© A% EB
C B
D) Aj T T
The effective slenderness ratio of a cantilever
column is g
(A) 05 1L/r - (®) Lt
© V2L/r D) 2L/
The top diameter, bottom diameter and the

height of the steel mould used for ‘slump test .5 .

are Wwww.previouspapers.in
(A)- 10 cm, 20 cm, 30 cm
(B) 10 cm, 30 cm, 20 cm

(D) 20 cm, 30 cm, 10 cm

cement is.due to its

increased content of gypsum-
(B) burning at iiigh tempefature'
©)

(D)

increaseq content of cement

higher content of tricalcium

DB 2014/Page 30

SPACE FOR ROUGH WORK / T % % e T




165. Di-calcium silicate (CoS) 171. An aggregate is said to be flaky, if its least

dimension is less than
(A) hydrates rapidly

. 2 . .
(B) generates less heat of hydration (A) = mean dimension
(C) hardens rapidly 1
(B) = mean dimension
(D) has less resistance to sulphate attack 2
© 2 mean dimensi
166. Separation of coarse aggregates from concrete 5 mean dimension
during transportation, is known as 3
. (D) = mean diameter
(A) bleeding {B) creeping 4
(C) segregation " (D) evaporation

172. The fineness of cement can be found out by

) sieve analysis using IS sieve number
167. The resistance of an aggregate to wear is

(A) 20 (B) 10
known as :
(A) impact value < 9 (D) 6
(B) abrasion resistance . 173. For batching 1: 2 : 4 concrete mix by volume

the ingredients required per bag (50 kg) of
_ cement are
(D) crushing resistance i | A) '

(C) shear resistance

100 litres of fine aggregate: 140 litres of
coarse aggregate

168. If fineness fmodulus of a. sand is 2°5, it 1s (B) 100 kg of fine aggregate . 200 kg of e

graded s - : * coarse aggregate w
(&) very fine sand : v (C) 70 kg of fine aggregate : 140 kg of coarse -
(B) fine sand ‘ aggregate
(C) medium sand » (D) 170 litres of fine aggregate 140 htres of &

(D) coarse sand coarse aggregate -

. . 174. Bulking is ' it
169. \Water-cement ratio is measured = (A) increase in volume of sand due to
of water and cement used per cubic metre of moisture _ ‘which keeps sand partlcles
concrete. - Co apart

(B) increase in dens1ty of' 'Sa_nd due to

(A) volume by volume o
. impurities like clay, organic matter

B ight by h , ,
. (B) weight by weight (C) ramming of sand so that. it occupies

(C) weight by volume ‘. ' minimum volume
(D) volume by weight ' (D) compacting of sand

175. The concrete cubes are prepared, cured and:

170. T t i i hei
' 0 prevent, segr egat1og, the maximum ,e1ght tested according to Indian Standards code

for p}acing' concrete, is 7 | number
4) 100em  (B) 125cm ~ (A) 1S:515 (B) 1S:516
(C) 150 cm (D) 200 cm. '- ‘ (C) 1S:517 (D) 1S:518
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176.

177.

178.

179.

© 180.

181.

182.

- (D)

(A)

- ®
()
L))

(B) rapid hardening cement

(®)

Workability of concrete for a given water
content is good if the aggregates are

(A)
B)
©
(D)

angular aggregates
flaky aggregates
rounded aggregates
irregular aggregates

Generally, strength of concrete is considered
negligible/very low in

(B) Tension

(D) None of the.above

(A) Compression
(C) Fatigue

As the cement sets and hardens, it generates
heat. This is called

Heat of hydration
.Latent heat

Heat of vaporisation
Sensible heat

In concrete, ‘while hand 'mixir_ig is adopted,

excess cement to be .é_dded is .
(A) 4% B) 10%
©) -14% (D) 20%

For constructing road pavements, the type of
cement generally used is

(A) ordinary Portland’ cement

(C) low heat cement
(D) "blast fumace slag cement

A very comfortable type of stair for usage is
(A) straight . (B) dog legged
(C) open newel (D) circular

If the area of tension reinforcement provided:

is less than that required for a balanced
section, then the RCC beam is called

(A) over reinforced
neutral reinforced
() under -reinforced‘ 8.

bottom reinforced

183. In

184.

185.

'| 186.

D Ift, >

of

compression, the maximum axial compressive

limit state collapse for direct

strain in concrete is

(A) 0-002 (B) 0-003

(C) 0-0035 (D) 0-004

A reduction factor C, to load carrying capacity
for a long column of effective length L, and

width b is applied as obtained from following -
expression :

‘e
36D

© 12

e
60 b

A T-beam behaves as a rectangular beam of a

widthequal to its flange-if its neutral axis
(A)
(B)
©)

falls within the flange

*

falls below the flange
coincides with the geometrical centre of::
the beam - £

(D) falls below the centroidal axis of theii

beam
If 7, is the nominal shear stress, T, is desig_nf
shear strength of concrete and T, oy 18 the#

maximum design shear strength of concrete,
which of the followmg statements is correct ?

for shear.
®B) If

reinforcement is to be provided. ,

Ty > To,max  MIDIMUM

is to be proﬁded.

1, minimum shear reinforcementy

is to be provided.

DB 2014/Page 34

SPACE FOR ROUGH WORK / T % % fore o







TEST (iii)
PART B : GENERAL ENGINEERING
(ELECTRICAL)

101. A stove element draws 15 A when connected | 105. For the network shown in the figure, the
“to 230 V line. How long does it take to value of current in 8 Q resistor is

_consume one unit of energy ? P 1
o—

(A) 345h (B) 2:16h

~(©) 10h D) 0:29h
- © 10 {22 48V 20 Q 12Q

102. The R, for the circuit shown in figure is

c*
40 1Q
Q 8Q
(A) 4-8A (B)'24A

©) 15A (D) 12A

106. A piece of oil soaked paper has been inserted -
S between/ the plates of a parallel plate

' e capacitor. Then the potential. difference -
(A) 144 Q (B) 14-57Q between the plates will ’ o

. il
(C) 1527Q . (D) 15:88Q (A) increase

(B) decrease
e ; " (C ain unaltered
1038. The SI unit of conductivity is * () remain un gre
(D) become zero

(A) ohm-m (B) ohm/m i :
(C) mho-m (D) mho/m 107. The current drawn by a tungsten filament
: lamp is measured by an ammeter. The
v D L ammeter reading under steady state j
104. Calculate the voltage drop across 145 Q condition will be -~ - the ammeter
resistance. . : A reading when the supply is switched on.

(A) same as (B) lessthan
(C) greaterthan (D) double

145Q 255Q  60Q

108. Tesla isAsame as

200V ,,. 4 (A) Weber/meter

’ | ‘—  (B) Weber/(meter)?
(A)',14'5V - (B) 8V | (C) Farad/meter
(C) 29V © (D) 305V | (D) Henry/(meter)?
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146. If current through the operating coil of a

147.

moving iron instrument is doubled, the

operating force becomes
(A) one and a half times -
(B) 2 times

(C) 3times

(D) 4 times

In moving iron instruments, the iron moves in

a direction to cause
(A) coil inductance to be constant
(B) lﬁuttal inductance to be minimum

(C) ‘minimum reluctance path _

(D) decrease in the flux passing through it

“148.

- (A By " connecting shunt. resistance of
T 0005 Q agross the meter =N

(B) By connectlng shunt re51stance of 0-05 Q
across the meter :

(Cr- By connectmg shunt resistance of 5 Q .
-across the meter - :
@) By connectmg shunt re51stance of 10 Q
-.  across the meter : :
The mult1p1y1ng power of the shunt of a

149.

A movmg c011 instrument has a resistance of

- 10°Q and gives. full scale deflection at 0-5 V

potential difference across it. How can it be
adapted to measure a current upto 100 A ?

mllhammeter is 8. If the c1rcu1t current is’

200 mA, ‘then current through the meter is
A 25 mA (B) 200 mA

(C) 1600mA . (D) 3200mA

8

150.

151.

(A)

(D)

152,
. 1440 rpm on a 50 Hz supply Find the sli

1 153.

" (B) it reduces eddy current loss

(C) it reduces insulation requirement’

1154.

The material to be used in the manufacture of
a standard resistor should be of

(A)
(B)

low resistivity

high resistivity and low temperature
coefficient

©
D)

high temperature coefficient

low resistivity and high temperature
coefficient

In .a 3-phase induction motor crawling

happens at

any speed
(B)
(&)

no-load speed
odd multiples of fundamental

even multiples of fundamental

A '4-pole, 3-phase induction motor runs at'

speed.
(A) 2940 rpm (B) 1500 rpm
(C) 1440 rpm (D) 60 rpm

Low voltage windings are placed nearer to t
core in  the case of concentric windin
because

(A) it reduces hysteresis loss

(D) it reduces leakage fluxes

If K is the phase-to-phase voltage ratio, th
the hne-to-hne voltage ratio in a 3-pha
Y- A transformer is

A K ®) K/V3

© VBK M) V3/K
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155. In an autotransformer of voltage ratio V_1 , 159. The commutator of a DC generator acts as

2 (A) an amplifier
V; > Vj, the fraction of power transferred

inductively is proportional to (B) arectifier

(C) aload
A) Vi /(Vi+Vy)
(D) a multiplier

(B) Vg /V,
(©) (Vy=Vy)[(V,+Vy 160. Fleming’s left hand rule is applicable to
(A) DC generator

(D) (V;-V9)/V; (B) DC motor

. (C) Alternator
156. Stepped core is used in transformers in order

(D) Transformer
to reduce.

(A) volume of iron ) F - A B s .
{ 161. Which of the following single phase motors is
(B) volume of copper , available with speed as low as-one revolution

: - er minute ? 3 -
(C) iron loss _ * p "

“(A) Shadedpole . (B) Reluctan-cé-
(D) reluctance of core - ’

(C) Hysteresis (D) Universal :
157. Commutation conditions at full load for large : . e §
) DC machines can be efficiently checked -by Lo vacgum cleaner employs . motf)r.. '
the Y (A) resistance split phase ' §
(A) Brake test s ' ’ (B) capacitor start
(B). Swinburne’s test : . " {C) shaded pole” -.
(C) Hopkinson’s test ' : - (D) single phase series

(D) Field test ; _
1163. In capacitor 's_tar1_;:_ single phase inductiong
: _ . " motor, the current in the
158. The emf induced in a DC shunt generator is ' '

230 V. The armature resistance is 0-1 Q. If @) supply it leads.the vol?a_ge

the armature current is 200 A, the terminal B) starting winding lags the voltage
1 ill '
voltage will be. (C) main winding leads the voltage
(A) 200V (B) 210V . : '
: . (D) starting winding leads the voltage
(C) 230V , (D) 250V : N
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164.

165.

In a single phase induction motor, speed
sensitive centrifugal switch is connected in
winding.

(A)
(B)
©)
(D)

parallel with main
series with main
parallel with starting

series with starting

At starting, the current through the starting
winding (I) of single phase induction motor

: (A) lags V' by 90°
(B) leads V" by 90°

.(C) is nearly in phase with ‘V’

166.

167. A synchronous motor can be used as

©

(D) leads V' by 75°

In a single phase induction motor at start, the

-two revolving fields produce

(@A)

onequal torques in the rotor conductors
B)
(9]

no torque in the rotor conductor

equal and opposite torques in the rotor
conductors

(D) equal torques in same d1rect10n in the

rotor conductors *

synchronous condenser when it is
(A) |
B)

over excited
over loaded
under excited -

(D) | under loaded

168. Which one of the followmg methods would

.give a higher than actual value of regulatlon
of an alternator ? <

(A) ZPF method
(C) EMF method

(BY MMF method
(D) ASA method

1 173.

169.

170.

171.

172.

If the excitation of an alternator operating in
parallel with other alternator is increased
above the normal value of excitation, its

(A)
(B)
©)
(D)

power factor becomes more lagging
pawer factor becomes more leading
output current decreases

output kW decreases

In an alternator, the effect of armature

reaction is minimum at power factor of
(A) 0-5lagging
(B) 0-866 lagging

(C) 0-866 leading
(D) unity

Damper winding in synchronous motors is
used to ' ‘

L 4

(A) suppress hunting -:- ’

(B) improve power factor

~ (C) develop reluctance torque

(D) improve the efficiency

Turbo alternators have rotors of

(A) small diameter and long axial length

(B) large diameter and long axial length

(C) large diameter and small axial length
(D) small diameter and small axial length

Which of the following equipments is usec
to limit short-circuit current level m F
sub- station ?

(A_) Isolators
(B) Lightning switch
(C) Coupling capacitor

(D) Series reactor
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174.

175.

176.

(B) reduce by ‘U/n’ times

177.

| (©) 50

178. A wire placed. on the top of a transmission
line acts as

(A) a phase wire

Power distribution by cable is generally
adopted for line length

(A)
(B)

less than 10 km
above 10 km
(C) less than 50 km

(D) above 50 km

The leakage resistance of a 50 km long cable

is 1 MQ. For a 100 km long cable it will be
(A) 0-5 MQ B) 2MQ
(C) 0-66 MQ (D) None of these

If voltage is increased by ‘n
the conductor would

-

(A) increase by ‘n’ times

©) increase hy ‘n? times

(D) reduce by ‘1/n? times

The maximum démand of a consumer is 2 kW
and his daily energy consumption is 24 units.

His load factor is . %.
(A)T24 - . (B) 416 = .
(D) 80

(B) neutral

(C) atransmission wire

’ times, the size of | | S
181.
; preferred for Workshop hghtmg ?

) ground wire

179.

180.

182.

" building whose installation system is being

,earthed ? -
@4 (B) 25
© 16 ® 05

1183.

The conductor, by means of which the metal
body of an equipment or an application is
connected to the earth, is known as

(A) Neutral continuity conductor
(B) Earth discontinuity conductor
(C) Earth continuity conductor

(D) Neutral discbntinuity conductor

Which insulation is most widely used for
covering wires/cables used in internal
wiring ? ,

(A) Paper " (B) Wood

(O Glass . (D).PVC.

Which of the: following fypes of wiring is

(A) Casmg-Cappmg wiring
(B). Batten wiring
(C) Concealed conduit wiring

(D) Surface conduit wiring

The earthmg electrodes should be . placed ;';
within what dlstance in meters from th

Suppher s fuse, which i ls provxded in domestlc
wiring system 18

(A) " after the energy meter
(B) before the energy meter
(C) before distribution board
(D) after mam sw1tch
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184.

186.

188.

. In a 3-pin plug

. Inside the earth pit, the_‘ earthing electrode
. should be placed .-

As per recommendation of ISI, the maximum
number of points of lights, fans and socket

outlets that can be connected in one
sub-circuit is

(A) 8 (B) 10

(C) 15 D) 20

(A) all the three pins are of the same size

(B) two pins are of the same size but third

one is thicker

two pms are of the same size but thlrd
one is thicker and longer

(®)

(D) all the three pins are of different éizeé_ -

The accéptab}e_e value of grounding resistance
to domestic application is **

@ orqo i
©) 10Q°

(B) 19
(D) IOOQ

(A) wvertical
(B) horizontal
(C) mchned at 45°

(D) 1nclmed at any angle other than 45°

To reduce the cost of the electricity generated i

(A)

the load factor and diversity factor must
be low

(B) the load factor must be IOW but d1versﬂ;y

factor high

(C) the load factor  must be hlgh but

dlversﬁ;y factor low -

(D) the load factor and dlversﬂ:y factor must

be high

189.

190.

The colour of the light given out by a sodium
vapour discharge lamp is

(A) pink
(C) yellow

(B) Dbluish green
(D) blue

_The transformer used in a welding set is

-~ (A) step-up transformer

191.

( B) step-down transfm mer
(C) constant current transformer

(D) booster transformer -

The domestic load that has UPF is
(A) Fan

(B) Mixer

- (D) Filament lamp

192.

193.

194.

" (B) Lifts and hoists )

N (®)] frequency2 ‘

(C) Tube

An industrial consur.ner has a daily Ioad:i
pattern of 2000 kW, Q-8 lag for 12 hours and'j
1000 kW UPF for 12 hours. The load factor is |

(A) 05 (B) 075 -

©) 06 (D) 20

Dielectric loss is proportional to -

(A) [freq.uencylm‘ (B) frequency

‘ -(D), frequency3 -

Which of the following applications needsy
frequent startmg and . stopping of elect
motor ?

(A) Air-conditioner-

(©) Grinding mil]
(D) Paper mill
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110.

111,

112,

113.

What type of contact oceurs during meshing of
helical gears ?

(A) Point
(C) Area

(B) Line

(D) Volume

Which one of the following drives is used for

~ transmitting power without slip ?

(A) Belt drives

(B) Rope drives
(C) Cone pulleys
(D) Chain drivés

The contact between cam
form a

and follower is to

(A) lower pair
(B) higher pair
(C) sliding pair
(D) rolling pair

Which of the following is antifriction Pearing ?
(A) Needle bearing ) . .

¢ Pede{stal bearing

114,

)

115,

" (A) height of governor and

(C) Coliar bearing
(D) Hydrostatic bearing

Helical gears have their teeth
(A) '
(B)
(C).

inclined to wheel rim
straight over the wheel rim
curved over the wheel rim"

cut 6ﬁ the sﬁrfacés of the frusta of cones

When the speed of governor increases, then

radius of rotatjon

increase

(B) height of governor and
decrease : g

radius of rotation’

(C) height of governor decreases but radius of
rotation increases ‘ ‘

but radius of

(D) height of governor indeases
 Totation decreases
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118,

119.

120.
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7 ?hé-ﬂo’or Wwith a velocity of 9 m/s and bounces
" to a distance of 1-2 m. Coefficient of restitution

A body of weight 30 N rests on a horizontal
floor. A gradually increasing horizonta] force is
applied to the body which Jjust starts moving
when the force is 9 N. The coefficient of

friction between the body and the floor will be

(A) 10/3 (B) 3/10

©) 1/3 D) 1/9

A body of weight W ig placed on a rough
inclined plane. The inclination of the plane
with the horizonta] is less' than
friction. The body will - _

be in equilibrium
(B)
©

move downwards
move upwards -

None of the above .

A ball is di'dpped vertically dov_vnwards; it hifs

between the floor and thve ball is
(A) . 054 . (B) zero

©).1 D) 027

For a material with Poisson’s ratio 0-25, the

ratio of modulus of rigidity to modulus of[

elasticity will be
(A) 0-4 B) 12
©) 20

D) 36

If equal and opposite forces
tend to elongate it, then the stress produced is

(A) tensile stress
(B) bending stress
(C) compr_és'sive stress .

(D) shear stress‘

the angle of

11

appl_ied to a bddy' -

| 115

NR 21












150.

151.

152.

- 153.

154.

155.

(A) Piston

_(©

(C) economiser

In an isothermal process, the internal energy
(A) always increases

(B) always decreases

(C) increases or decreases

(D) remains constant

Which of the following is a boiler mounting ?
(A) Safety velve

(B) Economizer

(C) Superheater

(D) Feed pump

Which part of a petrol engine would need

modifications if the engine is to be made to run
on LPG ?

(B) Crank shaft

(C) Valves (D) Carburettor

An adiabatic process in a thermodynamic

. System is one in which there is -

(A) a lix.nited heat transfer to or from the
system thro‘ugh'the boundary .

(B) no heat transfer to or from the system

through the boundary

no energy transfer to or from the system
through the bouridary §

(D) no internal energy change in the system

A device used toincrease the teniperature of

saturated steam without ra1smg 1ts pressure 1s -

called
(A) fusible plug B) blow-oﬁ' cock

D) superheater
Maximum diagram efficiency for Parsons

reaction turbine i is glven by

(A) 2cos?a/(+cosa)

(B) cos? o/ (1+2cos a)
9

(C) cos2a/ (1 +2cos? o)

.(D) 2 'boez d /(1 +2cos? o)

156.

157,

158.

159.

160.

1 161.

| 162.

(© 1-4-3-2

The delay period in a petrol engine is of the
order of

(A) 0-001 sec (B) 0-002 sec

(C) 0-01 sec (D) 0-05 sec
Octane number of iso-octane is
(A) 50 (B) 70
) o (D) 100

The silencer of an IC engine

(A) reduces noise

(B) decreases brake specific fuel consumption
(C) increases brake specific fuel consumption .

(D) has no effect on efficiency

The compression ratio for a practical diesel
engine usually lies in the range ‘

(A 5-17 ®B) 7-9 _
(C)_10-15 (D) 16-22 -
Fora four-cylinder engine, the firing order for
evenness of torque is
(A) 1-2-3-4  (B) 1-3-2-4
(D) 1-3-4-2

The drag coefficient is defined as - .

(A Fp/A)/ ‘('pvgv)

(B) (Fp/A)/(2pv2)

© Fp/©05pv2)

(D) Fp/(05pvE A)

The length of the. -diver’gent portion of

venturimeter in comparlson to convergent
portlon is

(A) same

(B) more

t (©) less

D) dependmg upon the type of flow
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163.

164.

165.

166.

167.

168.

’ (A) -adhesion

(C) 4/Re

Froude’s Number relates to

(A) inertia force and gravity force

(B) inertia force and pressure force

(C) inertia force and surface tension force

(D) inertia force and elastic force

In pitot-tube the velocity of flow at a point is
reduced to zero. That point is called as

(A) stagnation point

(B) critical point

(C) metacentre

(D) equilibrium point

The velocity dlstnbutlon in a plpe flow 1s
parabolic if the flow is :

(A) uniform, turbulent

(B) uniform, laminar " '

(C) non-uniform, steady , .

(D) zotational, comgreesible ‘

Mereury does not wef: 'éheélas'.s surface. This
property of mercury is due to . i

®B) cohesmn

(C) surface tension (D) viscosity

Loss of head due to friction in a umform 4

diameter plpe with viscous ﬂow is

(A) Re . (B) llRe
(D) 16/Re

Maﬁnmum theoreﬁcal efﬁcxency of Pelton
wheel is obtained when' the ratio of bucket

% speed to jet speed is
A4). 026 ®) 098
© 046 D) 058 -

169.

" plate is given by u = (y — y
_velocity in metres per second at a d1stance ’

' (C) 0-56 N/m?2

The velocity distribution for ﬂow]ovel_' a flat
2) in which u is

y metres above the plate. What is “the shear
stress value at y = 0-15 m ? ‘The dynamlc
viscosity of fluid is 8:0 poise. B

(A) 12-4 N/m?2 ®B) 1 24 N/m2 }
(D) ‘56 N/m2

170.

171.

172,

| 173.

174.

. of its volumie is under mercury ?

175.

frietion factor fis
4ﬂ4 2 o 2
@ 2L Y g 4L v
d 2g  md?2 28
: 2 i 2
. v 411, v
C). — D) — ., —
( )‘ ‘( ) »nd o2

176.

‘scale ratio of 25, in m/s, is
(A) 25
() 5

A plece of metal of specific gravity 7 floats in

‘The ratio of pressures between two points A

A hydraulic turbine runs at 240 rpm under a
head of 9 m. What will be the speed (in rpm) of
the turbine if operating head is 16 m ?

(A) 320 (B) 426
(C) 264 (D) 230

The discharge of a liquid of kinematic viscosity
4 x 1072 m2%/s through a 80 mm diameter pipe
is 32007 x 10~* m3/s. The flow is

(A) laminar (B) turbulent

(C) transition (D) critical .

The velocity at a point on the crest pf a model
dam was measured to be 1m/s.
corresponding prototype velocity for a linear

(B) 25
(D) 004

Pressure force on the 15 cm  diameter
headlight-. of an automobile travelling at
0-25m/s is .

(A) 104N
(©) 48N

(®) 68N -
D) 32N

mercury of specific gravity 13-6. What fraction

(A) 05
(C) 0515

B) 04
(D) 0-415

The friction head lost due to flow of a viscous

fluid through a circular pipe of length L and} |
diameter d with a velocity v and pipe Fanning{:

and B located respectively at depths 0-5 m and}
2 m below a constant level of water in a tank is]

A) 1:1 ®) 1 2

The .

€) 1:4 (D) 1:16
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177.

178.

179.

180.

Using Blasius equation, the friction factor for
turbulent flow through pipes varies as

(A) Re! (B) Re 0®
(C) Re™% (D) Re?%
The specific speea (Ng) of a centrifugal pump
is given by
I~
(A) ——N;’g ® X ;/E
H=" H
NW/PQ— N\IIQ_
(O] o (D) EO:E
Pressure intensity inside the water droplets is
(where ¢ — surface tension
d — diameter of bubble)
8o 20
A = — B ===
(A) p= 3 ( ) P S
4c ol
C =— .. D =—
©) p q z D) p= a

The length of a rectangular weir is L and

_height H;. The maximum depth of water on

" ‘the upstream side of the weir is H. Flow rate

181.

‘over the notch (Q) is

A) Q= % CdL\/éE Ho/2 |
® Q=2 eyl 2g (-1
© Q= —2- cd;; % gf”"{
ONE :f,‘ ca L2g (H-H)¥?
The coefﬁc‘ient. of di:schafgé (cg) of an -orifice

varies with

(A) Weber number ,

. (B) Mach number

© .jReynold’s number

(D) Froude number

182.

183.

184.

A hydrometer is used to determine
(A) relative humidity

(B) surface tension of liquids

(C) specific gravity of liquids

(D) viscosity of liquids

In flow through a pipe, the transition from
laminar to turbulent flow does not depend on

(A) velocity of the fluid
(B) density of the fluid
(C) length of the pipe
(D) diameter of the pipe

Low specific speed of a turbine implies that it
is
(A) Propeller turbine

(B) F_rancis turbine

(C) Impulse turl;ine

(D) Kaplan turbine

185.

186.

(C) Pitot tube

Flow of water in a pipe about 3 metres m

dlameter can be measured by
(A). Orifice plate " (B) Venturi _

(D) Nozzle

In a pitot tube, at the stagnatlon' pomt

(A) pressure is zero

(B) total energy is zero

" (C) pressure head is equal to veélocity

187.

(D) all the Velocity head is converted into
pressure head

Navier ~ Stokes equations are aésociated with
(A} Buoyancy .
(B) Supersonic flow

(C) Vortex flow

(D) Viscous flow
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